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Formel 2.1: g1² + g2² = sin()² + cos ()² = 1 
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http://www.aes.org/
http://www.ninetiles.com/
http://www.aes50.com/
http://www.audiorail.com/
http://www.aviom.com/
http://www.cobranet.info/
http://www.audinate.com/
http://www.ethersound.com/
http://www.ethersound.com/
http://www.axiaaudio.com/
http://www.yamaha.co.jp/
http://www.stagetec.com/
http://www.optocore.com/
http://www.medianumerics.com/


 

Formel 4.1 als OSC-Code: /panorama_information/ch_number x-value y-value 

Formel 4.2 als OSC-Code: /panorama_information/1 0.5 0.1 
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Formel 6.1: g12 + g22 = 1  

   [
   
   
]

   [
   
   
] 

Formel 6.2: p = g1 * l1 + g2 * l2 

  [
  
  
]   [

   
   
]

  [     ]
  [

       
        

]
 

 [
       
        

]

Formel 6.3: pT = [
  
  
]* [
   
   
] = g * L  



Formel 6.4: g = pT * L-1= [p1 p2]* [
       
        

]
  

 



Formel 6.5: p = g1l1 + g2l2 + g2l2 

Formel 6.6: g = pT * L-1= [p1 p2 p3] * [
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